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Christmas Addition

Solve the following word problems.

Santa Claus has 2 red candies and 3 green candies.
How many candies does Santa Claus have in total?

There are 2 reindeer on the left side of Santa's
sleigh and 2 on the right. How many reindeer are
there in total?

A snowman has 3 buttons on his coat and 2 on his
hat. How many buttons does the snowman have in
total?

Santa Claus has 3 cookies in one hand and 1 cookie
in the other hand. How many cookies does Santa
Claus have in total?

There are 3 presents under the Christmas tree and
2 presents on the table. How many presents are
there in total?

There are 2 stockings hanging on the fireplace and
2 stockings hanging on the wall. How many
stockings are there in total?

There are 1 snowman in the front yard and 2
snowmen in the backyard. How many snowmen
are there in total?

8 There are 2 stars on a Christmas tree and 2 more
are added. How many stars are there now on the

‘ree?
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